Filomat 33:6 (2019), 1659–1666 https://doi.org/10.2298/FIL1906659X



Published by Faculty of Sciences and Mathematics, University of Niš, Serbia Available at: http://www.pmf.ni.ac.rs/filomat

Determinants Involving the Numbers of the Stirling-Type

Aimin Xu^a

^aInstitute of Mathematics, Zhejiang Wanli University, Ningbo 315100, China

Abstract. By the LU factorization, we evaluate a determinant involving the complete symmetric functions. From a viewpoint of symmetric functions, some results for the evaluations of the determinants of the matrices consisting of the numbers of the Stirling-type are given.

1. Introduction

The *q*-Stirling numbers of the second kind [21] obey the recurrence

$$S_q(n,k) = q^{k-1}S_q(n-1,k-1) + [k]_qS_q(n-1,k), \ n,k \ge 1,$$

with $S_q(n,0) = 0$ and $S_q(0,k) = \delta_{k,0}$. In 2003, Ehrenborg [9] obtained a beautiful determinant identity involving the *q*-analogue of the Stirling numbers:

$$\det(S_q(s+i+j,s+j))_{0\le i,j\le n} = q^{\binom{s+n+1}{3} - \binom{s}{3}} \prod_{k=1}^n [s+k]_q^k, \tag{1}$$

where *s* and *n* be nonnegative integers. In his paper, Ehrenborg gave two nice proofs of this result, one bijective and one based upon factoring the matrix.

Let $\widetilde{S}_q(n,k) = q^{-\binom{k}{2}}S_q(n,k)$ be the *q*-Stirling numbers of the second kind due to Carlitz [4, 5, 27]. Recently, Cai, Ehrenborg and Readdy [3] proved the following identity by using *RG*-words:

$$\det(\widetilde{S}_q(s+i+j,s+j))_{0\leq i,j\leq n} = \prod_{k=1}^n [s+k]_q^k.$$
(2)

These interesting works motivate us to evaluate the determinants involving the numbers of the Stirlingtype. The purpose of this paper is to use the method of LU factorization to evaluate a determinant involving the complete symmetric functions. By the connections between the complete symmetric functions and the Striling numbers and their generalizations, we obtain some evaluations of the determinants involving the numbers of the Stirling-type including the above results in a unified approach.

Keywords. Complete symmetric function, Determinant, LU factorization, Stirling number

²⁰¹⁰ Mathematics Subject Classification. Primary 05E05; Secondary 15A15, 15A23

Received: 16 February 2018; Accepted: 29 April 2019

Communicated by Dragana Cvetković Ilić

Research supported by the Natural Science Foundation of Zhejiang Province (LY18A010001), the National Natural Science Foundation of China (11201430) and the Ningbo Natural Science Foundation (2017A610140).

Email address: xuaimin1009@hotmail.com (Aimin Xu)

2. A determinant involving complete symmetric functions

Let *n* be a positive integer. For k = 0, 1, 2, ..., the complete symmetric function of degree *k* in *n* variables $x_1, x_2, ..., x_n$ is the sum of all monomials of total degree *k* in the variables. Namely,

$$h_k(x_1, x_2, \ldots, x_n) = \sum_{1 \leq i_1 \leq i_2 \leq \cdots \leq i_k \leq n} x_{i_1} x_{i_2} \cdots x_{i_k},$$

which can also be alternatively written as

$$h_k(x_1, x_2, \ldots, x_n) = \sum_{\substack{i_1+i_2+\cdots+i_n=k\\i_j\geq 0}} x_1^{i_1} x_2^{i_2} \cdots x_n^{i_n}$$

In particular, the first few cases are

$$h_0(x_1, x_2, \dots, x_n) = 1,$$

$$h_1(x_1, x_2, \dots, x_n) = \sum_{i=1}^n x_i,$$

$$h_2(x_1, x_2, \dots, x_n) = \sum_{1 \le i \le j \le n} x_i x_j,$$

$$h_3(x_1, x_2, \dots, x_n) = \sum_{1 \le i \le j \le k \le n} x_i x_j x_k$$

The complete symmetric functions can be characterized by the following identity:

$$\prod_{i=1}^{n} (1-x_i t)^{-1} = \sum_{k\geq 0} h_k(x_1, x_2, \dots, x_n) t^k.$$

It is easy to check that for $n > k \ge 1$ the following recurrence holds

$$h_{n-k}(x_1, x_2, \dots, x_k) = h_{n-k}(x_1, x_2, \dots, x_{k-1}) + x_k h_{n-k-1}(x_1, x_2, \dots, x_k),$$
(3)

with initial conditions $h_0(x_1, x_2, ..., x_k) = 1$ and $h_{n-k}(x_1, x_2, ..., x_k) = 0$ if n < k.

It is well known that determinants of matrices whose entries are symmetric functions have a rich, very developed theory. In his famous book of enumerative combinatorics, Stanley [26, Theorem 2.7.1] obtained a very general determinant identity involving the complete symmetric functions by using the method of lattice path. As a useful and simple consequence, in this paper the following evaluation of a determinant involving the complete symmetric functions is recovered by using the LU factorization method.

Proposition 2.1. Let *s* and *n* be nonnegative integers. Then the following identity holds:

$$\det(h_i(x_0, x_1, \dots, x_{s+j}))_{0 \le i,j \le n} = \prod_{k=1}^n x_{s+k}^k.$$
(4)

This proposition plays a central role in our paper. As an example, we let $\binom{n}{k}$ and $\binom{n}{k}_{q}$ be the binomial coefficients and their *q*-analogues, respectively. Both of them are specializations of the complete symmetric functions [12], that is

$$h_{k}(\underbrace{1,1,\ldots,1}_{n}) = \binom{n+k-1}{k},$$
$$h_{k}(1,q,\ldots,q^{n-1}) = \binom{n+k-1}{k}_{q}.$$

Thus, the following identities are special cases of Proposition 2.1, namely,

$$\det \begin{pmatrix} \binom{s+i+j}{s+j} \end{pmatrix}_{0 \le i,j \le n} = 1,$$

$$\det \begin{pmatrix} \binom{s+i+j}{s+j} \\ q \end{pmatrix}_{0 \le i,j \le n} = q^{\frac{1}{6}n(n+1)(2n+1)+s\binom{n+1}{2}},$$

where *s* and *n* be the nonnegative integers.

As further applications of Proposition 2.1, some results for the evaluations of the determinants of the matrices consisting of the numbers of the Stirling-type including the Stirling numbers of the second kind, the *r*-Whitney numbers of the second kind and their generalizations will be given in the third section. Our main idea follows from Merca's interesting works [12, 16]. Recently, Merca [12, 16] obtained some convolution formulas for the complete and elementary symmetric functions. By the convolutions, he discovered and proved many combinatorial identities involving *r*-Whitney numbers, Stirling numbers, binomial coefficients, Bernoulli numbers and some of their generalizations.

In order to prove Proposition 2.1, we need the following lemmas.

Lemma 2.1. Let *p*, *q* and *t* be nonnegative integers. There holds

$$h_{p+q-t}(x_0, x_1, \dots, x_t) = \sum_{k=\max\{0, t-q\}}^{\min\{t, p\}} h_{p-k}(x_0, x_1, \dots, x_k) h_{q-t+k}(x_k, x_{k+1}, \dots, x_t).$$
(5)

Proof. First of all, we claim that if $n \ge 0$, then

$$x^{n} = \sum_{k=0}^{n} h_{n-k}(x_{0}, x_{1}, \dots, x_{k}) \prod_{i=0}^{k-1} (x - x_{i}).$$
(6)

We proceed by induction on *n*. Obviously, the equality holds for n = 0, 1. Assume that the equality holds for *n*, and let us prove it for n + 1.

$$\begin{aligned} x^{n+1} &= x \sum_{k=0}^{n} h_{n-k}(x_0, x_1, \dots, x_k) \prod_{i=0}^{k-1} (x - x_i) \\ &= \sum_{k=0}^{n} h_{n-k}(x_0, x_1, \dots, x_k) \prod_{i=0}^{k} (x - x_i) + \sum_{k=0}^{n} x_k h_{n-k}(x_0, x_1, \dots, x_k) \prod_{i=0}^{k-1} (x - x_i) \\ &= \sum_{k=1}^{n+1} h_{n+1-k}(x_0, x_1, \dots, x_{k-1}) \prod_{i=0}^{k-1} (x - x_i) + \sum_{k=0}^{n} x_k h_{n-k}(x_0, x_1, \dots, x_k) \prod_{i=0}^{k-1} (x - x_i) \\ &= x_0 h_n(x_0) + \sum_{k=1}^{n} h_{n+1-k}(x_0, x_1, \dots, x_k) \prod_{i=0}^{k-1} (x - x_i) + h_0(x_0, x_1, \dots, x_n) \prod_{i=0}^{n} (x - x_i). \end{aligned}$$

The last equality holds because of (3). Since $h_{n+1}(x_0) = x_0h_n(x_0)$ and $h_0(x_0, x_1, ..., x_n) = h_0(x_0, x_1, ..., x_{n+1}) = 1$,

(6) is true. Thus we have

$$\begin{aligned} x^{p+q} &= x^q \sum_{k=0}^p h_{p-k}(x_0, x_1, \dots, x_k) \prod_{i=0}^{k-1} (x - x_i) \\ &= \sum_{k=0}^p h_{p-k}(x_0, x_1, \dots, x_k) \prod_{i=0}^{k-1} (x - x_i) \sum_{j=0}^q h_{q-j}(x_k, x_{k+1}, \dots, x_{k+j}) \prod_{i=0}^{j-1} (x - x_{k+i}) \\ &= \sum_{k=0}^p \sum_{j=0}^q h_{p-k}(x_0, x_1, \dots, x_k) h_{q-j}(x_k, x_{k+1}, \dots, x_{k+j}) \prod_{i=0}^{k+j-1} (x - x_i). \end{aligned}$$

Replacing k + j by t yields

$$x^{p+q} = \sum_{t=0}^{p+q} \prod_{i=0}^{t-1} (x - x_i) \sum_{k=\max\{0, t-q\}}^{\min\{t, p\}} h_{p-k}(x_0, x_1, \dots, x_k) h_{q-t+k}(x_k, x_{k+1}, \dots, x_t).$$
(7)

On the other hand, it follows clearly from (6) that

$$x^{p+q} = \sum_{t=0}^{p+q} h_{p+q-t}(x_0, x_1, \dots, x_t) \prod_{i=0}^{t-1} (x - x_i).$$
(8)

By (7) and (8) we have

$$\sum_{t=0}^{p+q} h_{p+q-t}(x_0, x_1, \dots, x_t) \prod_{i=0}^{t-1} (x - x_i)$$

$$= \sum_{t=0}^{p+q} \prod_{i=0}^{t-1} (x - x_i) \sum_{k=\max\{0, t-q\}}^{\min\{t, p\}} h_{p-k}(x_0, x_1, \dots, x_k) h_{q-t+k}(x_k, x_{k+1}, \dots, x_t).$$
(9)

Equating the coefficients of $\prod_{i=0}^{t-1} (x - x_i)$ on both sides of (9) yields (5). \Box

By Lemma 2.1 we obtain the LU factorization of the matrix whose entries are the complete symmetric functions $h_i(x_0, x_1, ..., x_{s+j})$.

Lemma 2.2. Let s and n be nonnegative integers. Then

$$\begin{pmatrix}
h_{0}(x_{0}, x_{1}, \dots, x_{s}) & h_{0}(x_{0}, x_{1}, \dots, x_{s+1}) & \cdots & h_{0}(x_{0}, x_{1}, \dots, x_{s+n}) \\
h_{1}(x_{0}, x_{1}, \dots, x_{s}) & h_{1}(x_{0}, x_{1}, \dots, x_{s+1}) & \cdots & h_{1}(x_{0}, x_{1}, \dots, x_{s+n}) \\
\vdots & \vdots & \ddots & \vdots \\
h_{n}(x_{0}, x_{1}, \dots, x_{s}) & h_{n}(x_{0}, x_{1}, \dots, x_{s+1}) & \cdots & h_{n}(x_{0}, x_{1}, \dots, x_{s+n})
\end{pmatrix}$$

$$= \begin{pmatrix}
h_{0}(x_{0}, x_{1}, \dots, x_{s}) & h_{0}(x_{0}, x_{1}, \dots, x_{s+1}) & \cdots & h_{n}(x_{0}, x_{1}, \dots, x_{s+n}) \\
\vdots & \vdots & \ddots & \vdots \\
h_{n}(x_{0}, x_{1}, \dots, x_{s}) & h_{n-1}(x_{0}, x_{1}, \dots, x_{s+1}) & \cdots & h_{0}(x_{0}, x_{1}, \dots, x_{s+n}) \\
\vdots & \vdots & \ddots & \vdots \\
h_{n}(x_{0}, x_{1}, \dots, x_{s}) & h_{n-1}(x_{0}, x_{1}, \dots, x_{s+1}) & \cdots & h_{0}(x_{0}, x_{1}, \dots, x_{s+n}) \\
\end{pmatrix}$$

$$\times \begin{pmatrix}
h_{0}(x_{s}) & h_{0}(x_{s}, x_{s+1}) & \cdots & h_{0}(x_{s}, x_{s+1}, \dots, x_{s+n}) \\
0 & h_{1}(x_{s+1}) & \cdots & h_{1}(x_{s+1}, x_{s+2}, \dots, x_{s+n}) \\
\vdots & \vdots & \ddots & \vdots \\
0 & 0 & \cdots & h_{n}(x_{s+n})
\end{pmatrix}$$
(10)

1662

Proof. By taking p = s + i, q = j and t = s + j in (5) we have

$$h_i(x_0, x_1, \ldots, x_{s+j}) = \sum_{k=s}^{s+\min\{i,j\}} h_{s+i-k}(x_0, x_1, \ldots, x_k) h_{k-s}(x_k, x_{k+1}, \ldots, x_{s+j})$$

Replacing k by s + k yields

$$h_i(x_0, x_1, \ldots, x_{s+j}) = \sum_{k=0}^{\min\{i, j\}} h_{i-k}(x_0, x_1, \ldots, x_{s+k}) h_k(x_{s+k}, x_{s+k+1}, \ldots, x_{s+j}),$$

which is equivalent to (10) and this completes the proof. \Box

It is worth noting that the above lemma will not only serve as a tool to prove Proposition 2.1 but it is also interesting on its own.

The proof of Proposition 2.1. Since $h_0(x_0, x_1, ..., x_i) = 1$ for $i \ge 0$ and $h_k(x_{s+k}) = x_{s+k}^k$ for $k \ge 1$, by (10) we obtain Proposition 2.1 directly.

3. Determinants involving the numbers of the Stirling-type

According to Proposition 2.1 we here give some results for the evaluations of the determinants of the matrices whose entries are the numbers of the Stirling-type.

3.1. Stirling numbers of the second kind and their q-analogue, (p,q)-analogue

Let S(n,k) the Stirling number of the second kind [7]. It is well known that the following relation holds:

$$S(n,k) = h_{n-k}(0,1,...,k).$$

Thus, according to Proposition 2.1, we have

Theorem 3.1. Let *s* and *n* be nonnegative integers. Then

$$\det(S(s+i+j,s+j))_{0\le i,j\le n} = \prod_{k=1}^{n} (s+k)^k.$$
(11)

It is not difficult to obtain the following relation:

 $\widetilde{S}_q(n,k) = h_{n-k}([0]_q, [1]_q, \dots, [k]_q).$

Thus, by Proposition 2.1 we recover the following determinant identity involving the *q*-Stirling numbers of the second kind $\tilde{S}_q(s + i + j, s + j)$.

Theorem 3.2 ([9]). Let s and n be nonnegative integers. Then

$$\det(\widetilde{S}_q(s+i+j,s+j))_{0\le i,j\le n} = \prod_{k=1}^n [s+k]_q^k.$$
(12)

Since $S_q(n,k) = q^{\binom{k}{2}}\widetilde{S}_q(n,k)$ and $\binom{s+i}{2} = \binom{s+i+1}{3} - \binom{s+i}{3}$, it is easy to obtain the following:

Theorem 3.3 ([3]). Let s and n be nonnegative integers. Then

$$\det(S_q(s+i+j,s+j))_{0\le i,j\le n} = q^{\binom{s+n+1}{3}-\binom{s}{3}} \prod_{k=1}^n [s+k]_q^k.$$
(13)

1663

Let $S_{p,q}(n,k)$ be the (p,q)-Stirling numbers of the second kind [27] which satisfy

$$S_{p,q}(n,k) = p^{k-1}S_{p,q}(n-1,k-1) + [k]_{p,q}S_{p,q}(n-1,k)$$

where $[k]_{p,q} = p^{k-1} + p^{k-2}q + \dots + pq^{k-2} + q^{k-1}$. Similarly, we have obtain the following relation:

 $S_{p,q}(n,k) = p^{\binom{k}{2}} h_{n-k}([0]_{p,q}, [1]_{p,q}, \dots, [k]_{p,q}).$

Therefore, it is clear that Proposition 2.1 allows us to obtain a new identity for the (p, q)-Stirling numbers of the second kind.

Theorem 3.4. Let *s* and *n* be nonnegative integers. Then

$$\det(S_{p,q}(s+i+j,s+j))_{0 \le i,j \le n} = p^{\binom{s+n+1}{3} - \binom{s}{3}} \prod_{k=1}^{n} [s+k]_{p,q}^{k}.$$
(14)

3.2. Legendre-Stirling numbers and Jacobi-Stirling numbers of the second kind

Let $JS_n^{(k)}(z)$ be the Jacobi-Stirling numbers of the second kind [2, 10, 15, 22]. It was shown that the $JS_n^{(k)}(z)$ are determined by the recurrence

$$JS_n^{(k)}(z) = JS_{n-1}^{(k-1)}(z) + k(k+z)JS_{n-1}^{(k)}(z),$$

with initial conditions

.....

$$JS_n^{(0)}(z) = JS_0^{(k)}(z) = 0, \quad JS_0^{(0)}(z) = 1.$$

Equivalently, they are determined by the identity

$$x^{n} = \sum_{k=0}^{n} JS_{n}^{(k)}(z) \prod_{i=0}^{k-1} (x - i(i+z)).$$

Mongelli [23] has shown that the Jacobi-Stirling numbers of the second kind are specializations of the complete symmetric functions, that is

$$JS_n^{(k)}(z) = h_{n-k}(0, 1+z, \dots, k(k+z)).$$

Using the above relation, we have

Theorem 3.5. Let s and n be nonnegative integers. Then

$$\det\left(JS_{s+i+j}^{(s+j)}(z)\right)_{0\le i,j\le n} = \prod_{k=1}^{n} (s+k)^k (s+k+z)^k.$$
(15)

In particular, when z = 1, the Jacobi-Stirling numbers of the second kind $JS_n^{(k)}(z)$ reduce to the Legendre-Stirling numbers of the second kind [1] denoted by $PS_n^{(k)}$. Therefore, it is natural that we have the following theorem.

Theorem 3.6. Let s and n be nonnegative integers. Then

$$\det\left(PS_{s+i+j}^{(s+j)}\right)_{0\le i,j\le n} = (s+n+1)^n \prod_{k=1}^n (s+k)^{2k-1}.$$
(16)

1664

1665

3.3. *r*-Whitney numbers of the second kind and their (p,q)-analogue

Let W(n, k; m, r) be the *r*-Whitney numbers of the second kind [6, 8, 13, 14, 17–20, 28]. Then we have the following identity [16]:

$$W(n,k;m,r) = h_{n-k}(r,m+r,\ldots,mk+r).$$

This relation leads to a determinant identity involving the *r*-Whitney numbers of the second kind due to Xu and Zhou [28].

Theorem 3.7 ([28]). Let s and n be nonnegative integers. Then

$$\det\left(W(s+i+j,s+j;m,r)\right)_{0\le i,j\le n} = \prod_{k=1}^{n} (m(s+k)+r)^{k}.$$
(17)

In particular, when r = 1, we can easily obtain the evaluations of the similar determinants involving the Whitney numbers of second kind.

Let $W_{p,q}(n,k;m,r)$ be a (p,q)-generalization of the *r*-Whitney numbers of the second kind [11, 24, 25]. It was shown in [11] that the $W_{p,q}(n,k;m,r)$ are determined by the identity

$$(mx + [r]_p)^n = \sum_{k=0}^n m^k W_{p,q}(n,k;m,r)[x]_q^{\underline{k}},$$

where the falling factorial

$$[x]_{q}^{\underline{i}} = \begin{cases} x(x-[1]_{q})\cdots(x-[i-1]_{q}), & i \ge 1, \\ 1, & i = 0. \end{cases}$$

Equivalently, they are determined by the generating function

$$\sum_{n\geq k} W_{p,q}(n,k;m,r)x^n = \frac{x^k}{(1-([r]_p+m[0]_q)x)\cdots(1-([r]_p+m[k]_q)x)}, \quad k\geq 0,$$

which leads to an explicit formula for the $W_{p,q}(n, k; m, r)$:

$$W_{p,q}(n,k;m,r) = \frac{1}{m^k[k]_q!} \sum_{j=0}^k (-1)^{k-j} q^{-\binom{j}{2} - j(k-j)} {k \brack j}_q (m[j]_q + [r]_p)^n.$$

It is easy to obtain the following relation:

$$W_{p,q}(n,k;m,r) = h_{n-k}([r]_p,m[1]_q + [r]_p,\dots,m[k]_q + [r]_p).$$
(18)

By (18) and Proposition 2.1, a determinant identity involving the (p,q)-generalization of the *r*-Whitney numbers of the second kind can be derived.

Theorem 3.8. Let *s* and *n* be nonnegative integers. Then

$$\det(W_{p,q}(s+i+j,s+j;m,r))_{0\le i,j\le n} = \prod_{k=1}^{n} (m[s+k]_q + [r]_p)^k.$$
⁽¹⁹⁾

A. Xu / Filomat 33:6 (2019), 1659-1666

References

- [1] G.E. Andrews, W. Gawronski, L.L. Littlejohn, The Legendre-Stirling numbers, Discrete Math. 311(2011) 1255–1272.
- [2] G.E. Andrews, E.S. Egge, W. Gawronski, L.L. Littlejohn, The Jacobi-Stirling numbers, J. Combin Theory, Ser. A 120(2013) 288–303.
- [3] Y. Cai, R. Ehrenborg, M.A. Readdy, q-Stirling identities revisited, (2017) arXiv: 1706.06623v1.
- [4] Y. Cai, M.A. Readdy, q-Stirling numbers: A new view, Adv. in Appl. Math. 86(2017) 50-80.
- [5] L. Carlitz, On abelian fields, Trans. Amer. Math. Soc. 35(1933) 122-36.
- [6] G-S. Cheon, J-H. Jung, *r*-Whitney numbers of Dowling lattices, Discrete Math. 312(15)(2012) 2337–2348.
- [7] L. Comtet, Advanced Combinatorics, the Art of Finite and Infinite Expansions, D. Reidel Publishing Co., Dordrecht, 1974.
 [8] C.B. Corcino, R.B. Corcino, N,G, Acala, Asymptotic estimates for *r*-Whitney numbers of the second kind, J. Appl. Math. (2014)2014
- Article ID: 354053.
- [9] R. Ehrenborg, Determinants involving q-Stirling numbers, Adv. in Appl. Math. 31(2003) 630-642.
- [10] W.N. Everitt, K.H. Kwon, L.L. Littlejohn, R. Wellman, G.J. Yoon, Jacobi-Stirling numbers, Jacobi polynomials, and the left-definite analysis of the classical Jacobi differential expression, J. Comput. Appl. Math. 208(2007) 29–56.
- [11] T. Mansour, J.L. Ramírez, M. Shattuck, A generalization of the r-Whitney numbers of the second kind, J. Comb. 8(1) (2017) 29-55.
- [12] M. Merca, A convolution for complete and elementary symmetric functions, Aequationes Math. 86(3)(2013) 217–229.
- [13] M. Merca, A new connection between r-Whinety numbers and Bernoulli polynomilas, Integral Transforms Spec. Funct. 25(2014) 937–942.
- [14] M. Merca, A note on the *r*-Whitney numbers of Dowling lattices, C. R. Math. Acad. Sci. Paris. 351(2013) 649–655.
- [15] M. Merca, A note on the Jacobi-Stirling numbers, Integral Transforms Spec. Funct. 25(2014), 196-202.
- [16] M. Merca, New convolutions for complete and elementary symmetric functions, Integral Transforms Spec. Funct. 27(2016) 965–973.
- [17] I. Mező, A new formula for the Bernoulli polynomials, Results Math. 58(2010) 329-335.
- [18] I. Mező, J.L. Ramírez, Some identities of the r-Whitney numbers, Aequationes Math. 90(2016) 393–406.
- [19] I. Mező, J.L. Ramírez, The linear algebra of the r-Whitney matrices, Integral Transforms Spec. Funct. 26(3)(2015) 213–225.
- [20] M. Mihoubi, M. Tiachachat, Some applications of the *r*-Whitney numbers, C. R. Math. Acad. Sci. Paris. 352(2014), 965-969.
 [21] S.C. Milne, Restricted growth functions, rank row matchings of partition lattices, and *q*-Stirling numbers, Adv. in Math. 43(1982)
- 173–196.
 [22] D. Mongoelli, Total positivity properties of Looph Stirling numbers, Adv in Appl. Math. 48(2012) 254–264.
- [22] P. Mongelli, Total positivity properties of Jacobi-Stirling numbers, Adv. in Appl. Math. 48(2012) 354–364.
- [23] P. Mongelli, Combinatorial interpretations of particular evaluations of complete and elmentary symmetric functions, Electron J. Combin. 19(2012) #P60.
- [24] J.L. Ramírez, M. Shattuck, A (*p*, *q*)-analogue of the *r*-Whitney-Lah numbers, J. Integer Seq. 19(2016) Article 16.5.6.
- [25] J.L. Ramírez, M. Shattuck, Generalized r-Whitney numbers of the first kind, Annales Mathematicae et Informaticae 46(2016) 175–193.
- [26] R.P. Stanley, Enumerative Combinatorics, vol. 1, Cambridge University Press, 1997.
- [27] M. Wachs, p, q-Stirling numbers and set partition statistics, J. Combin. Theory, Ser. A 56(1991) 27–46.
- [28] A.M. Xu, T.H. Zhou, Some identities related to the r-Whitney numbers, Integral Transforms Spec. Funct. 27(2016) 920–929.